
Subject: Re: Supressing 0 in axis (icontour)
Posted by David Fanning on Fri, 30 Jan 2004 18:31:38 GMT
View Forum Message <> Reply to Message

Olaf Stetzer writes:

>>> After zooming the whole plot I realised that this 0
>>> is instead the 10 misplaced at the wrong value! Strange.
>>  
>>  
>>  Now *that* doesn't surprise me. :-)
>  
>  Um, yes? Why? Am I in a real need for the weekend or
>  are the itols to blame? :-)

Wow, Olaf, two replies to the same question. It must
be your day. :-)

After I hit the SEND button just now, I thought of
a better answer.

I've been reading James Gleck's book _Genius: The
Life and Science of Richard Feynman_. Fabulous book!
But last night I read that Feynman could walk into
a room and overhear the tiniest part of a mathematical
discussion and declare, "That's wrong.". He was invariably
right. "He told [the staff] that he could spot wrong results
even when he had no idea what was right -- something
about the smoothness of the numbers of the relationships
between them."

It's kinda like that. :-)

Cheers,

David
-- 
David W. Fanning, Ph.D.
Fanning Software Consulting, Inc.
Phone: 970-221-0438, E-mail: david@dfanning.com
Coyote's Guide to IDL Programming: http://www.dfanning.com/
Toll-Free IDL Book Orders: 1-888-461-0155
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